

A q -logarithmic analogue of Euler's sine integral (*)

NOBUSHIGE KUROKAWA(**) - MASATO WAKAYAMA(***)

ABSTRACT - We study a q -logarithmic analogue of Euler's sine integral proved in 1769. It is evaluated by the quantum dilogarithm function.

1. Introduction.

In [E] 1769, Euler calculated the famous integral

$$(1.1) \quad \int_0^{\frac{\pi}{2}} \log(\sin x) dx = -\frac{\pi}{2} \log 2.$$

This appears frequently in calculus texts as an example of somewhat tricky calculation. We remark that a refined formulation of (1.1) is given by the formula

$$(1.2) \quad \int_0^{\frac{\pi}{2}} \log(1 - e^{2ix}) dx = -\frac{\pi^2 i}{8}.$$

(*) Partially supported by Grant-in-Aid for Scientific Research (B) No. 15340012, and by Grant-in-Aid for Exploratory Research No. 15654003

Mathematics Subject Classification 2000: 11M36

(**) Indirizzo dell'A.: Department of Mathematics, Tokyo Institute of Technology, Oh-okayama Meguro, Tokyo, 152-0033 JAPAN. e-mail: kurokawa@math.titech.ac.jp

(***) Indirizzo dell'A.: Faculty of Mathematics, Kyushu University, Hakozaki Fukuoka, 812-8581, JAPAN. e-mail: wakayama@math.kyushu-u.ac.jp

In fact, taking the real part of (1.2), we have (1.1) because

$$\begin{aligned} \operatorname{Re} \int_0^{\frac{\pi}{2}} \log(1 - e^{2ix}) dx &= \int_0^{\frac{\pi}{2}} \log|1 - e^{2ix}| dx \\ &= \int_0^{\frac{\pi}{2}} \log(2 \sin x) dx \\ &= \int_0^{\frac{\pi}{2}} \log(\sin x) dx + \frac{\pi}{2} \log 2 \end{aligned}$$

by noticing that $\operatorname{Re}(-\frac{x^2 i}{8}) = 0$.

We formulate a slightly generalized version. We use Euler's dilogarithm function

$$\operatorname{Li}_2(x) = \sum_{n=1}^{\infty} \frac{x^n}{n^2}$$

and the double sine function

$$F(x) = e^x \prod_{n=1}^{\infty} \left\{ \left(\frac{1 - \frac{x}{n}}{1 + \frac{x}{n}} \right)^n e^{2x} \right\}$$

due to Hölder [H]. We define

$$F_1(x) = F(x)^{-2\pi i} (1 - e^{2\pi i x})^{2\pi i x} e^{\pi^2(x^2 - \frac{1}{6})}$$

for $\operatorname{Im}(x) \geq 0$. Then we have the

THEOREM 1.1. For $0 < a \leq 1$

$$\begin{aligned} \int_0^{\frac{\pi}{2}} \log(1 - ae^{2ix}) dx &= -\frac{1}{2i} \{ \operatorname{Li}_2(-a) - \operatorname{Li}_2(a) \} \\ &= \frac{1}{2i} \log \left(\frac{F_1\left(\frac{\log a}{2\pi i} + \frac{1}{2}\right)}{F_1\left(\frac{\log a}{2\pi i}\right)} \right). \end{aligned}$$

In the case of $a = 1$ in Theorem 1.1 we obtain (1.2) from the facts $F_1(0) = e^{-\frac{\pi^2}{6}}$ and $F_1(\frac{1}{2}) = e^{\frac{\pi^2}{12}}$. We can easily show these values are obtained from the definition of $F_1(x)$. Actually, the value of $F_1(0)$ is obvious from

$F(0) = 1$. Also, using the result $F(\frac{1}{2}) = \sqrt{2}$ of Hölder in [H], we have

$$F_1\left(\frac{1}{2}\right) = F\left(\frac{1}{2}\right)^{-2\pi i} 2^{\pi i} e^{\frac{\pi^2}{12}} = e^{\frac{\pi^2}{12}}.$$

Now we present a q -analogue of Theorem 1.1 or (1.2). Let $q > 1$. We put

$$\ell_q(x) = (q-1) \sum_{m=1}^{\infty} \frac{x-1}{x-1+q^m}$$

for $x \in \mathbb{C}$, which defines a meromorphic function in x . The function $\ell_q(x)$ is considered as a q -analogue of the usual logarithm

$$\log x = \sum_{m=1}^{\infty} \frac{(-1)^{m-1}(x-1)^m}{m}$$

expanded in $|x-1| < 1$, as the following calculation shows:

$$\begin{aligned} \ell_q(x) &= (q-1) \sum_{m=1}^{\infty} \frac{(x-1)q^{-m}}{1+(x-1)q^{-m}} \\ &= (q-1) \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} (-1)^{n-1}(x-1)^n q^{-nm} \\ &= (q-1) \sum_{n=1}^{\infty} \frac{(-1)^{n-1}(x-1)^n}{q^n-1} = \sum_{n=1}^{\infty} \frac{(-1)^{n-1}(x-1)^n}{[n]_q}, \end{aligned}$$

where $[n]_q = \frac{q^n-1}{q-1}$ and $\lim_{q \downarrow 1} [n]_q = n$.

We show that a q -analogue of (1.2) is expressed as

$$(1.3) \quad \int_0^{\frac{\pi}{2}} \ell_q(1 - e^{2ix}) dx = \frac{q-1}{2i} \log \left(\prod_{n=1}^{\infty} \frac{1+q^{-n}}{1-q^{-n}} \right).$$

To formulate the result neatly, we recall the quantum dilogarithm (see Kirillov [K]);

$$\text{Li}_{2,q}(x) = \sum_{n=1}^{\infty} \frac{x^n}{n[n]_q}.$$

We also introduce

$$F_q(x) = \prod_{n=1}^{\infty} (1 - q^{-n} e^{2\pi i x})^{q^{-1}}.$$

Then we have the following theorem.

THEOREM 1.2. *For $0 < a \leq 1$, it holds that*

$$\begin{aligned} \int_0^{\frac{\pi}{2}} \ell_q(1 - ae^{2ix}) dx &= -\frac{1}{2i} \{ \text{Li}_{2,q}(-a) - \text{Li}_{2,q}(a) \} \\ &= \frac{1}{2i} \log \left(\frac{F_q \left(\frac{\log a}{2\pi i} + \frac{1}{2} \right)}{F_q \left(\frac{\log a}{2\pi i} \right)} \right). \end{aligned}$$

If we put $a = 1$ in Theorem 1.2, the equation (1.3) follows immediately from the second expression. Moreover, we have the following limit formulas which allow us to obtain (1.2) as the limit $q \downarrow 1$ of (1.3).

PROPOSITION 1.3.

$$(1.4) \quad \lim_{q \downarrow 1} (q-1) \log \left(\prod_{n=1}^{\infty} (1 + q^{-n}) \right) = \frac{\pi^2}{12}$$

and

$$(1.5) \quad \lim_{q \downarrow 1} (q-1) \log \left(\prod_{n=1}^{\infty} (1 - q^{-n}) \right) = -\frac{\pi^2}{6}.$$

Furthermore, we prove the following

THEOREM 1.4. *Suppose $\text{Im } x \geq 0$. Then we have*

$$\lim_{q \downarrow 1} F_q(x) = F_1(x).$$

This result indeed shows that “ $\lim_{q \downarrow 1}$ (Theorem 1.2) = Theorem 1.1”. We add one remark. Since

$$\int_0^{\frac{\pi}{2}} \log(\sin x) dx = \frac{1}{4} \int_0^{2\pi} \log |\sin x| dx = \frac{1}{4} \text{Re} \frac{1}{4} \int_0^{2\pi} \log(\sin x) dx,$$

it may be also reasonable to think the quantity

$$\frac{1}{4} \text{Re} \frac{1}{4} \int_0^{2\pi} \ell_q(\sin x) dx$$

as an analogue of (1.1). From this viewpoint, we obtain the following

THEOREM 1.5. For $q > 2$

$$\begin{aligned} \frac{1}{4} \operatorname{Re} \frac{1}{4} \int_0^{2\pi} \ell_q(\sin x) dx &= -\frac{\pi}{2} \sum_{n=1}^{\infty} \frac{\binom{2n}{n} 2^{-n}}{[n]_q} \\ &= -\frac{(q-1)\pi}{2} \sum_{n=1}^{\infty} \left\{ \frac{1}{\sqrt{1-2q^{-n}}} - 1 \right\}. \end{aligned}$$

We note that, in the formula above, it is impossible to take the limit $q \downarrow 1$ directly.

2. Proof of Theorem 1.1.

The former part of the theorem is straightforward. In fact, we calculate

$$\begin{aligned} \int_0^{\frac{\pi}{2}} \log(1 - ae^{2ix}) dx &= \int_0^{\frac{\pi}{2}} \left(-\sum_{n=1}^{\infty} \frac{a^n e^{2inx}}{n} \right) dx \\ &= -\sum_{n=1}^{\infty} \frac{a^n}{n} \int_0^{\frac{\pi}{2}} e^{2inx} dx = -\sum_{n=1}^{\infty} \frac{a^n}{n} \left[\frac{e^{2inx}}{2in} \right]_0^{\frac{\pi}{2}} \\ &= -\frac{1}{2i} \sum_{n=1}^{\infty} \frac{(-a)^n - a^n}{n^2} \\ &= -\frac{1}{2i} \{ \operatorname{Li}_2(-a) - \operatorname{Li}_2(a) \}. \end{aligned}$$

To show the latter part of the theorem, it is sufficient to prove the following lemma.

LEMMA 2.1. For $\operatorname{Im} x \geq 0$

$$F_1(x) = \exp(-\operatorname{Li}_2(e^{2ix})).$$

This is essentially proved in [KOW] or [KK], where the theory of multiple sine functions is developed in extending the results to the double sine functions due to Hölder [H] (for the period $(1, 1)$) and Shintani [S] (for the period (ω_1, ω_2)). For reader's convenience, we sketch the proof. See also "Miscellaneous Examples" Chap. VII-20 of Whittaker-Watson [WW], which treats indeed the double sine function $F(x)$ of Hölder [H] (but without mentioning to this reference).

PROOF OF LEMMA 2.1. We first show that

$$(2.1) \quad F(x) = \exp \left(\int_0^x \pi t \cot(\pi t) dt \right).$$

In fact, from the expression

$$\log F(x) = x + \sum_{n=1}^{\infty} \left\{ n \left(\log \left(1 - \frac{x}{n} \right) - \log \left(1 + \frac{x}{n} \right) \right) + 2x \right\}$$

we obtain

$$\begin{aligned} \frac{F'(x)}{F(x)} &= 1 + \sum_{n=1}^{\infty} \left\{ n \left(\frac{1}{x-n} - \frac{1}{n+x} \right) + 2 \right\} \\ &= 1 + \sum_{n=1}^{\infty} \frac{2x^2}{x^2 - n^2} = \pi x \cot(\pi x). \end{aligned}$$

Hence, using $F(0) = 1$, we obtain (2.1).

It follows from (2.1) that

$$\log F(x) = \int_0^x \pi t \cot(\pi t) dt.$$

Suppose $\text{Im}(x) \geq 0$. Then we have

$$\begin{aligned} \log F(x) &= \int_0^x \pi i t \frac{e^{\pi i t} + e^{-\pi i t}}{e^{\pi i t} - e^{-\pi i t}} dt = - \int_0^x \pi i t \left(1 + 2 \frac{e^{2\pi i t}}{1 - e^{2\pi i t}} \right) dt \\ &= -\pi i \frac{x^2}{2} - 2\pi i \sum_{n=1}^{\infty} \int_0^x t e^{2\pi i n t} dt \\ &= -\frac{\pi i}{2} x^2 - 2\pi i \sum_{n=1}^{\infty} \left\{ \frac{x e^{2\pi i n x}}{2\pi i n} - \frac{e^{2\pi i n x} - 1}{(2\pi i n)^2} \right\} \\ &= -\frac{\pi i}{2} x^2 - x \sum_{n=1}^{\infty} \frac{e^{2\pi i n x}}{n} + \frac{1}{2\pi i} \sum_{n=1}^{\infty} \frac{e^{2\pi i n x} - 1}{n^2} \\ &= -\frac{\pi i}{2} x^2 + x \log(1 - e^{2\pi i x}) + \frac{1}{2\pi i} \text{Li}_2(e^{2\pi i x}) + \frac{\pi i}{12}. \end{aligned}$$

Since $F_1(x) = F(x)^{-2\pi i} (1 - e^{2\pi i x})^{2\pi i x} e^{\pi^2(x^2 - \frac{1}{6})}$, this shows the claim in Lemma 2.1. \square

Thus Theorem 1.1 follows.

3. Proof of Theorem 1.2

The former part is exactly similar to the case of Theorem 1.1. Actually, we have

$$\begin{aligned} \int_0^{\frac{\pi}{2}} \ell_q(1 - ae^{2ix}) dx &= \int_0^{\frac{\pi}{2}} \left(- \sum_{n=1}^{\infty} \frac{a^n e^{2inx}}{[n]_q} \right) dx \\ &= - \sum_{n=1}^{\infty} \frac{a^n}{[n]_q} \int_0^{\frac{\pi}{2}} e^{2inx} dx = - \frac{1}{2i} \sum_{n=1}^{\infty} \frac{(-a)^n - a^n}{[n]_q n} \\ &= - \frac{1}{2i} \{ \text{Li}_{2,q}(-a) - \text{Li}_{2,q}(a) \}. \end{aligned}$$

To show the latter part, it suffices to use the following result.

LEMMA 3.1. For $\text{Im}(x) \geq 0$

$$F_q(x) = \exp(-\text{Li}_{2,q}(e^{2\pi ix})).$$

PROOF. This is easily seen as follows (see [KW] also):

$$\begin{aligned} \log F_q(x) &= (q-1) \sum_{n=1}^{\infty} \log(1 - q^{-n} e^{2\pi ix}) \\ &= -(q-1) \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \frac{q^{-nm} e^{2\pi imx}}{m} = -(q-1) \sum_{m=1}^{\infty} \frac{e^{2\pi imx}}{m(q^m - 1)} \\ &= - \sum_{m=1}^{\infty} \frac{e^{2\pi imx}}{m[m]_q} = -\text{Li}_{2,q}(e^{2\pi ix}). \end{aligned}$$

Hence the claim follows. □

Thus, we obtain Theorem 1.2.

4. Proof of Theorem 1.4.

This is obvious from Lemma 2.1 and Lemma 3.1, because the formula

$$\lim_{q \downarrow 1} \text{Li}_{2,q}(x) = \text{Li}_2(x).$$

holds for $|x| < 1$.

5. Calculations of special values.

First, we notice that one can directly see that Hölder's result is equivalent to Euler's integral, that is,

$$F\left(\frac{1}{2}\right) = \sqrt{2} \iff (1.1)$$

as follows. From (1.2) we see that

$$\begin{aligned} F\left(\frac{1}{2}\right) &= \exp\left(\int_0^{\frac{1}{2}} \pi t \cot(\pi t) dt\right) \\ &= \exp\left(\left[t \log(\sin \pi t)\right]_0^{\frac{1}{2}} - \int_0^{\frac{1}{2}} \log(\sin \pi t) dt\right) \\ &= \exp\left(-\int_0^{\frac{1}{2}} \log(\sin \pi t) dt\right). \end{aligned}$$

Hence we observe that

$$\begin{aligned} F\left(\frac{1}{2}\right) = \sqrt{2} &\iff \int_0^{\frac{1}{2}} \log(\sin \pi t) dt = -\frac{1}{2} \log 2 \\ &\iff \int_0^{\frac{\pi}{2}} \log(\sin x) dx = -\frac{\pi}{2} \log 2. \end{aligned}$$

We now look at the case $a = 1$ of Theorem 1.2 and take the limit $q \downarrow 1$. Then we have (1.2) again by

$$\lim_{q \downarrow 1} (q - 1) \log \left(\prod_{n=1}^{\infty} \frac{1 + q^{-n}}{1 - q^{-n}} \right) = \frac{\pi^2}{4}.$$

To see this limit formula, it is enough to show that (1.4) and (1.5) in Proposition 1.3.

PROOF OF PROPOSITION 1.3. Let us show these limit formulas by employing the modular form $\mathcal{A}(\tau)$ of Ramanujan defined by

$$\mathcal{A}(\tau) = e^{2\pi i \tau} \prod_{n=1}^{\infty} (1 - e^{2\pi i n \tau})^{24}$$

for $\text{Im } \tau > 0$. This has the functional equation, i.e. the automorphy of \mathcal{A} (see, e.g., [We]);

$$\mathcal{A}\left(-\frac{1}{\tau}\right) = \tau^{12} \mathcal{A}(\tau).$$

For $q > 1$, take $\tau = \frac{\log(q^{-1})}{2\pi i}$. Then, since $\mathcal{A}(\tau) = q^{-1} \prod_{n=1}^{\infty} (1 - q^{-n})^{24}$, we have

$$\begin{aligned} \log\left(\prod_{n=1}^{\infty} (1 - q^{-n})\right) &= \frac{1}{24} \log \mathcal{A}(\tau) + \frac{1}{24} \log q \\ &= \frac{1}{24} \log\left(\tau^{-12} \mathcal{A}\left(-\frac{1}{\tau}\right)\right) + \frac{1}{24} \log q \\ &= -\frac{1}{2} \log \tau - \frac{1}{24} \frac{2\pi i}{\tau} + \log\left(\prod_{n=1}^{\infty} (1 - e^{-\frac{2\pi i n}{\tau}})\right) + \frac{1}{24} \log q. \end{aligned}$$

Hence it follows that

$$\begin{aligned} (q-1) \log\left(\prod_{n=1}^{\infty} (1 - q^{-n})\right) \\ = -\frac{\pi^2}{6} \frac{q-1}{\log q} - \frac{q-1}{2} \log \tau + (q-1) \log\left(\prod_{n=1}^{\infty} (1 - e^{-\frac{2\pi i n}{\tau}})\right) + \frac{q-1}{24} \log q. \end{aligned}$$

Taking $q \downarrow 1$, we have

$$\frac{q-1}{\log q} \rightarrow 1, \quad (q-1) \log \tau \rightarrow 0, \quad e^{-\frac{2\pi i}{\tau}} \rightarrow 0 \quad \text{and} \quad (q-1) \log q \rightarrow 0.$$

Therefore we obtain

$$\lim_{q \downarrow 1} (q-1) \log\left(\prod_{n=1}^{\infty} (1 - q^{-n})\right) = -\frac{\pi^2}{6}.$$

(This process shows that one may have more detailed asymptotics.) Then, the relation

$$\begin{aligned} (q-1) \log\left(\prod_{n=1}^{\infty} (1 + q^{-n})\right) &= (q-1) \log\left(\prod_{n=1}^{\infty} \left(\frac{1 - q^{-2n}}{1 - q^{-n}}\right)\right) \\ &= \frac{1}{q+1} (q^2 - 1) \log\left(\prod_{n=1}^{\infty} (1 - q^{-2n})\right) - (q-1) \log\left(\prod_{n=1}^{\infty} (1 - q^{-n})\right) \end{aligned}$$

yields

$$\lim_{q \downarrow 1} (q-1) \log \left(\prod_{n=1}^{\infty} (1+q^{-n}) \right) = \frac{1}{2} \left(-\frac{\pi^2}{6} \right) - \left(-\frac{\pi^2}{6} \right) = \frac{\pi^2}{12}.$$

This completes the proof of Proposition 1.3. \square

6. Proof of Theorem 1.5.

For $q > 2$ we calculate

$$\begin{aligned} \int_0^{2\pi} \ell_q(\sin x) dx &= \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{[n]_q} \int_0^{2\pi} (\sin x - 1)^n dx \\ &= - \sum_{n=1}^{\infty} \frac{1}{[n]_q} \int_0^{2\pi} (1 - \sin x)^n dx. \end{aligned}$$

A simple calculation shows the following lemma.

LEMMA 6.1.

$$(6.1) \quad \int_0^{2\pi} (1 - \sin x)^n dx = 2\pi \binom{2n}{n} 2^{-n}.$$

PROOF. We calculate as

$$\begin{aligned} \int_0^{2\pi} (1 - \sin x)^n dx &= \int_0^{2\pi} \left(\sin \frac{x}{2} - \cos \frac{x}{2} \right)^{2n} dx = \int_0^{2\pi} \left(\sqrt{2} \sin \left(\frac{x}{2} - \frac{\pi}{4} \right) \right)^{2n} dx \\ &= 2^{n+1} \int_{-\frac{\pi}{4}}^{\frac{3\pi}{4}} \sin^{2n} \theta d\theta = 2^{n+2} \int_0^{\frac{\pi}{2}} \sin^{2n} \theta d\theta. \end{aligned}$$

Therefore, by the well-known evaluation

$$\int_0^{\frac{\pi}{2}} \sin^{2n} \theta d\theta = \frac{\pi}{2} \binom{2n}{n} 2^{-2n},$$

we get (6.1). \square

From this lemma we get the former part of Theorem 1.4. We next show

$$\sum_{n=1}^{\infty} \frac{\binom{2n}{n} 2^{-n}}{[n]_q} = (q-1) \sum_{m=1}^{\infty} \left\{ \frac{1}{\sqrt{1-2q^{-m}}} - 1 \right\}.$$

Recalling the binomial expansion

$$(1-x)^{-\frac{1}{2}} = \sum_{n=0}^{\infty} \binom{2n}{n} 2^{-2n} x^n \quad (|x| < 1),$$

we can calculate as

$$\begin{aligned} \sum_{n=1}^{\infty} \frac{\binom{2n}{n} 2^{-n}}{[n]_q} &= (q-1) \sum_{n=1}^{\infty} \binom{2n}{n} 2^{-n} (q^n - 1)^{-1} \\ &= (q-1) \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \binom{2n}{n} 2^{-n} q^{-nm} = (q-1) \sum_{n=1}^{\infty} \sum_{m=1}^{\infty} \binom{2n}{n} 2^{-2n} (2q^{-m})^n \\ &= (q-1) \sum_{m=1}^{\infty} \left\{ \frac{1}{\sqrt{1-2q^{-m}}} - 1 \right\}. \end{aligned}$$

Thus the theorem follows.

REFERENCES

- [E] L. EULER, *De summis serierum numeros Bernoullianos involventium*. Novi comm. acad. scient. Petropolitanae, **14** (1769), pp. 129–167 (Opera Omnia I-15, pp.91–130).
- [H] O. HÖLDER, *Ueber eine transcendente Function*. Göttingen Nachrichten, **16** (1886), pp. 514–522.
- [K] A. N. KIRILLOV, *Dilogarithm identities*, Progr. Theoret. Phys. Suppl., **118** (1995), pp. 61–142.
- [KK] N. KUROKAWA - S. KOYAMA, *Multiple sine functions*. Forum Math., **15** (2003), pp. 839–876.
- [KOW] N. KUROKAWA - H. OCHIAI - M. WAKAYAMA, *Multiple trigonometry and zeta functions*. J. Ramanujan Math. Soc., **17** (2002), pp. 101–113.
- [KW] N. KUROKAWA - M. WAKAYAMA, *Absolute tensor products*. Internat. Math. Res. Notices, **5** (2004), pp. 249–260.
- [S] T. SHINTANI, *On a Kronecker limit formula for real quadratic fields*. J. Fac. Sci. Univ. Tokyo, **24** (1977), pp. 167–199.

- [We] A. WEIL, *Sur une formule classique*. J. Math. Soc. Japan, **20** (1968), pp. 400–402.
- [WW] E.T. WHITTAKER - G. N. WATSON, *A Course of Modern Analysis*, Cambridge Univ. Press (Third ed.) 1920.

Manoscritto pervenuto in redazione l'8 dicembre 2004, modificato il 20 aprile 2005.